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Problem quickname: 3232
1
Mutiply using the long multiplication method as shown in example a).
3 279 - 25
6 5 5 8
1 6 3 9 5
a) S 1 9 7 § b) 6935-29 c) 3825-33 d) 1278-54
2)
Mutiply using the long multiplication method as shown in example a).
113 2 - 75 9
79 2 4
5 6 6 0
a) 1 01 8 8 b) 8033-906 c) 2121-991 d) 5340-376
8 5 9 1 8 8
3)
Mutiply using the long multiplication method as shown in example a).
3 5 - 6 2
2 10
70
a) 51 7 0 b) 52-32 c) 72-73 d) 21-41
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Mutiply using the long multiplication method as shown in example a).

9 6 2 4
4
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. b) 565-46 ¢) 339-60 d) 77575
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Good Luck!
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